Grammar Quizzes > T8

LESSON 4 OF23

TB - A=B & AB
@ usito

A=B with sino number

+3

3-2+9=10
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Translate ¢ 7| 0| H&t7| 7= 4 Y .

+ Three minus two plus nine equal to ten

Five minus two plus ten equal to thirteen
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LESSON 4 OF23

TB - A=B & AB

@ uBito

Translate & t7| O Gi5t7| 7= 427t ot .

+ Three minus two plus nine will not be not fifteen / I don't think three minus two plus nine is not
fifteen

“Ten minus two plus five will not be not fifteen / | don't think Ten minus two plus five is not fiteen
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